208 CHESS.
Gang I Gawme IV.
BLACK. WIITE, In this game White (Mr. Palmer) played the
The President, MUr. G. Lalmer, sanie opening, and Black corrected the mistake
1. P to K th. I to K Jth, he committed in the previous game at his ninth
2. K Kt to B 3d. P to Q dth («). move, by playing instead Q B to K Kt 5th, which
3. D takes . Q takes T effeetually stopped the attack, and Black won
4. Q Kt to B 3d. Q to K 3d. casily, the game was not recorded.
5. K B to Kt 5th (ch). P to Q BB 3d. G \;V
6. KBtoRdth, KB toQBdth. rack, | AME Ve
T QoK. @ Ktto Q2. The President. U, C. Palmer.
8. B to Q Kt 3d. Q to K B 4th, 1 PloKdth o

0. P to Qth, B to Q Sd.
10. Q Kt to K dth. BtoQB 2
11 Q Kt to K Kt 30, Q to K Kt 5ti.
12, B takes K B P (ch) and wins (4).

Netes.
(@) Yery unsafe.
(fy For it K takes B, Black wins Q by Kt to Kt 5th
check; and it K moves, Black egually winsQ, by P to
I K 3d.

Gang III
WHITL.

Mr. @. Palmer.
. P to K dth.
. K Kt to B 3.
. B to QB dth.
1 to ) Kt 4th.
PtoQB3d

> to Q il
Castles.
P takes P,
B to QR 3d.
K Kt to Kt 5th.

LBLACK.
The DPresident.
D to K dth,
Q Kt to B 3d.
B to Q B «dth,
B takes Kt P.
Bto QR 4th,
P takes .
P to Q 3d.
B to Q Kt 3d.
K Kt to K 2d («).
P to Q 4th (4).

St
SO®No om0

11. P takes P, Q Kt to R 4th.
12. KR to K sq. P to Q 13 th.
12, P ths P en pass. Q Kt takes P.
14 £ tths K BP (¢). Qtakes QY.

15.
16.
17.

(,to X 2Q.
Kt io K 5th (A ¢h)
B takes Kt (o).

Castles ().
KtoR sq. .
R takes KB P.

18. Q to K 3d. Q takes Q.
19. R takes Q. B takes R.
20). Kt takes Kt. P takes Kt.

21. Xt to Q R 34, RthsQRD

discovering check, and wins.
Notes.

(@) A mistake, which should have cost the game.

(5 Hix only move, as bo dare not Castle, on sccount of]
White's playing Q to K R Sih.

(<4 Up to this puint, White has most ably taken advan,
tazze of his oppunient’s wistake, but hie here lets the v ictory
€ip from his grasp: had he taken this P with B Lhedqn..
the e was won, for it' Black moves K to 1< 2d, he loses
bis Qb3 Kt 1 K Oth, or if K goes to B sq., W lutc plays I
t0 Q 5th with an irresistidble attuck.

() Q dare not take Q K.

(er Butter (o have teied for parpetual chuck by Kt to
K B 7.

—

. P to K dth.

. P to Q dth. P takes 1.

3. K Kt to 13 3d. Q XKt to 15 3d.
4. KB to B 4th. K B to B 4th.
5. Kt to K Kt 6ih (¢). K Kt to 1t 3d.

. Kt takes KB P,

. B takes Kt (ch).

. Q to K R 5th (ch).
. 0 takes D.

Kt takes Kt.
K takes .

P to K Kt 8d.
T to Q 3d.

10. Q to Q B 4ih (ch). K to Kt 2Q.
11. Castles. K toB sq.
12, P to QB 8d. Qto KB ad.

3. D to KB 4th ().
4. K to R sq.
. Q to IX 2d.
. Ktto Q 2d.

o QR 3d
B to K 3.

QR to K 5q.
Q to K R 5th.

17. Kt to K B 8d. Q to K Kt 5th.
18. B toQ 24, K to Kt sq.
19. K R to K sq. B to Q 4th.
20. P to K R 3d. Q to KR 4th.
21. Qto K B 24, I takes KD,
22, P takes Q P Kt takes P (¢).
23. Kt takes Kt (). R takes Kt.

24, K to Kt ¢q (o).
25. R to K 7th.

P to Q Bdth ().
Q to K B 4th,

26. B to B 3d. Qto KB 3d.
27. QR to K sq. Qtakes KB P.

28.
29,

B takes R. Qto KR 3d(g).
Q to K 8d. and White resigns.
Nedes.

() This is not considered so sound as P to Q B 3.

(&) K 1 to Q =1 is better, as it.compels White fo fake (e
Q B P. Whitelas condueted this defenee very well, having
played the est moves throughout.

(¢} This is unsound, and ought to have cost White 8
picce.

(d) Tustead of this move, Black should bave tsken R
with i, md thc g'unt. would have proceeded thus—

WRITE,
2. R hkuli B takes R.
24, Kt takes Kt Q takes K R P (ch).

. Ko Kt sq. Q to Kt 5th.
2, Qio ¥ 2d. Q takes Q.
Kt takes Q. and Black must win.
() I6Q takes R, he is evidently mated in two mores.
(f) This is not good, but it is not casy to find a slisse.
tory move for White at this peint.
() Qtahes B would have been better, but White's gt
iy bop2less in any case.

27,




